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[BEm—] S HERNFESEH x sin(cosx),cos(sinx) T —1E X 7 (31 4=388H)
[&=xm2E]:

~-1<sinx<1 Vx impliescos (sinx) >0 Vx

So - cos(sinx)>0 Zsin(cosk) Vx e [—725 , —3—7-5—] (1)
If 0<lx/< —g then|sin x| < x| and
cos(sinx) = cosisin x} > cos[x] = sin]cos x} 2 sin(cos x) (2)

cos(sin0)=cos0=1>sin1=sin(cos0).Put this together with(1)and(2)one gets

cos(sinx)>sin(cosx) Vx

[MA=] % p(x)AEGES AR B & plm)=p(me)=p(ms)=p(iw)=13 * 342 m; *my -
mi oMy AR R - EHREEH m o 4 p(m)=20



[4#me]: Let p(x)=(x-m;)(x-mp)(x-m;)(x-ms)Q(x)+13.If m € Z s.t. p(m)=20 then Q(m)
eZ and
(m-m; )(m-m;)(m-m;)(m-me)Q(m)+13=20
(m-m; )(m-my )(m-ms)(m-me) Q(m)=7
m;,i=1,2,3,4 are all different so integers m-m;,i=1,2,3,4 are all different and at least two of
them have absolute values other than 1 their product can be divisor of 7.

[BAEm ] ¢ 2% f(0)=0> f(1)=1" f(2)=2 B#=— EXH n 4 (3n)=fn)  {3n+1)=fn)+1 -
f3n+2)=fn)-1 » &K {37212 48 «

[4%@4]:

£(3721) = (31240 + 1) = f(1240) + 1 =f(3- 413 + 1) +1=F(413) +1 +1
=f(3-137+2)+2=f(137) =1+ 2=£(3-45+2) +1
=£(45) ~1+1=f(3-15)=f(15) =£(3-5)=f(5)=£(3-1+2)
=f(1)-1=1-1 -
=0





